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Co-ordinate Geometry

1. Find the distance between following pair of

points: (2, 4), (2, 2)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DJYgXHkYnmNV

° Watch Video Solution

2. Find the distance between following pair of

points: (-1, -2), (4, 6)

o Watch Video Solution

3. Find the distance between following pair of

points: (3, 6), (3 + /3, 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_DJYgXHkYnmNV
https://dl.doubtnut.com/l/_F01wSYInM1ob
https://dl.doubtnut.com/l/_25YuL5QEz0B2
https://dl.doubtnut.com/l/_3npmmy8aUAnI

4. Find the distance between following pair of

points: (-7, 4), (5, -1)

o Watch Video Solution

5. Find the distance between following pair of

points: (a cos 6, asinf), (0, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_3npmmy8aUAnI
https://dl.doubtnut.com/l/_f3ZF5FBGLK7o

6. If the distance between the point (C, 2) and

(3,4) is 2 cm find the value of C.

o Watch Video Solution

7. If the distance between (3, 5) and (k, 8) is 5.

Find k.

o Watch Video Solution



https://dl.doubtnut.com/l/_xtlFDjw7eEuY
https://dl.doubtnut.com/l/_8N5NWRjlzeqx

8. Prove that the following points are the
vertices of an isosceles right angled triangle.

(0, 4),(4,1),(7,5)

o Watch Video Solution

9. Prove that the following points are the
vertices of an isosceles right angled triangle.

(3,1),(9,7),(3,7)

o Watch Video Solution



https://dl.doubtnut.com/l/_BNtkYcPKzo1d
https://dl.doubtnut.com/l/_yj7vBj8vHI66
https://dl.doubtnut.com/l/_Ifc91liMn626

10. Prove that the following points are the
vertices of an isosceles right angled triangle.

(3,0),(6,4),(-1,3)

o Watch Video Solution

11. Show that the triangle whose vertices are

(1,4), (-5, 1) and (1, -2) is isosceles.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ifc91liMn626
https://dl.doubtnut.com/l/_pDgvy5efuUKF

12. Prove that the triangle whose vertices are

(-2, 2) (1,-2) and (9, 4) is a right angled triangle.

° Watch Video Solution

13. The vertices of a triangle are (a, 0), (-a, O)
and (0, /3a). Show that the triangle is

equilateral.

° Watch Video Solution



https://dl.doubtnut.com/l/_E6IxrTn2Xp6i
https://dl.doubtnut.com/l/_EQ1hJKnGG6JU

14. If the points (p, q) and (q, p) are

equidistant from the point (x, y). show that x =

Y.

o Watch Video Solution

15. Under what condition the points (3, - 4) and

(-5, 2) are equidistant from the point (x, y).

° Watch Video Solution



https://dl.doubtnut.com/l/_OTBAZp2xuuLR
https://dl.doubtnut.com/l/_eSqXSCSQGxVe

16. Prove that the point (-2, -11) is equidistant

from the points (-3, 7) and (4, 6).

° Watch Video Solution

17. If the square of the distance between the

points (5, 10) and (10, y) be 50. Find y.

o Watch Video Solution



https://dl.doubtnut.com/l/_X2T1pDlpOhl7
https://dl.doubtnut.com/l/_xiRqlg3m7Qbx

18. One extremity of a straight line 10 cm long
is (-3, 2). If the ordinate of the other extremity

be 10, find its obscissa.

o Watch Video Solution

19. If the extremities of a circle be (-5, 7) and (3,

-11), find the centre of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_dic3seHaUYQg
https://dl.doubtnut.com/l/_t8TxzI18cIf2

20. Find the coordinate of a point equidistant

from the given points A(2, 1), B(1, 2) and C(8, 9).

° Watch Video Solution

21. Find the co-ordinate of a point equidistant

from the given point A(1, 0), B(O, 1) and C(2, 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_kaRMYCcOt3nq
https://dl.doubtnut.com/l/_sGhPUBnCeR6n

22. Prove that the points (-1, 0), (3, 1), (2, 2), (-2,

1) are the vertices of a parallelogram.

° Watch Video Solution

23. Prove that the points (- 1, 0), (O, 3), (1, 3) and

(O, 0) are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_djQMegA1mHDI
https://dl.doubtnut.com/l/_5Zpw4yKnLMgj

24. Prove that the points (-2, -1), (1, 0), (4, 3),

(1,2) are not the vertices of a rectangle.

° Watch Video Solution

25. Prove that the points (a, b), (a, -b), (-a, b)

and (-a, -b) are the vertices of a rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_YyJS8cWor5yl
https://dl.doubtnut.com/l/_BZ148TZplIfn

26. Show that the quadrilateral with the

vertices (3, 2), (0, 5), (-3, 2), (O, -1) is a square.

° Watch Video Solution

27. Show that the quadrilateral with the

vertices (0, 0), (a, 0), (a, a), (0, a) is a square.

o Watch Video Solution



https://dl.doubtnut.com/l/_9tuiLBOYcCTD
https://dl.doubtnut.com/l/_mHtIJnEDNCju

28. Show that the quadrilateral with the

vertices (7, 3), (3, 0), (O, -4), (4, -1) is a rhombus.

° Watch Video Solution

29. Prove that (3, 4), (4, 2), (5, 4) and (4, 6) are

the vertices of a rhombus.

o Watch Video Solution



https://dl.doubtnut.com/l/_x8dMGlPNIclz
https://dl.doubtnut.com/l/_cXAlc1AVJjH3

30. If the co-ordinates of the points P, Q, S are
(at2 2at) a Z2a and (a, 0) respectivel
9 9 tz 9 t 9 p y’

prove that — 4+ —— is constant.

SP ' SO

° Watch Video Solution

31.If D is the middle point of the side BC of the

triangle ABC, prove that

AB? + AC? = 2(AD? + DC?).

° Watch Video Solution



https://dl.doubtnut.com/l/_YHdiOlF1FsG2
https://dl.doubtnut.com/l/_l26Pgg5KLIE4
https://dl.doubtnut.com/l/_yR9eX30PowQz

32. find the co-ordinates of the middle points
of the line segment joining the pair of points
given below:

(-3,2), (5,2)

o Watch Video Solution

33. find the co-ordinates of the middle points
of the line segment joining the pair of points
given below:

(2,3), (3,4)

I o Watch Video Solution


https://dl.doubtnut.com/l/_yR9eX30PowQz
https://dl.doubtnut.com/l/_BWlF8k8zr9rO

34. find the co-ordinates of the middle points
of the line segment joining the pair of points
given below:

(3.1),(-5,7)

o Watch Video Solution

35. the end points of a line and the ratio in

which it is divided by a point are given below.


https://dl.doubtnut.com/l/_BWlF8k8zr9rO
https://dl.doubtnut.com/l/_Ctqyjso6I7Vd
https://dl.doubtnut.com/l/_a2KUkhghSEDs

find the co-ordinates of the point:

(2,3),(5,-3),1:2

° Watch Video Solution

36. the end points of a line and the ratio in
which it is divided by a point are given below.
find the co-ordinates of the point:

(4,5),(7,-1),1:2

o Watch Video Solution



https://dl.doubtnut.com/l/_a2KUkhghSEDs
https://dl.doubtnut.com/l/_2kpBV1Dwp9G3

37. the end points of a line and the ratio in
which it is divided by a point are given below.
find the co-ordinates of the point:

(-3,-4),(-8,7),7:5

o Watch Video Solution

38. the end points of a line and the ratio in
which it is divided by a point are given below.
find the co-ordinates of the point:

(1,3),(2,7),3:4

| & I


https://dl.doubtnut.com/l/_fuSvx91MIAUn
https://dl.doubtnut.com/l/_p3QPEhPbzlN8

| ¥ Watch Video Solution |

39.if(2, P) is the mid-point of the line segment
joining to the point A(6,-5) and B(-2,11), find the

value of P.

o Watch Video Solution

40. if (x,3) is the mid-point of the line segment
joining the points A(6,4) and B(-4,2),find the

value of x

o Watch Video Solution



https://dl.doubtnut.com/l/_p3QPEhPbzlN8
https://dl.doubtnut.com/l/_V2CRoqnaF0LS
https://dl.doubtnut.com/l/_t67tzCEzjK3U

41. in what ratio does the point P(2,5) divide

the line joining the points A(-8,9) and B(-6,9).

° Watch Video Solution

42. find the ratio in which the point P(-6,a)
divides the joint of A(-5,-4) and B(-2,3). Also find

the value of a.

° Watch Video Solution



https://dl.doubtnut.com/l/_t67tzCEzjK3U
https://dl.doubtnut.com/l/_WmogQj2VnRWe
https://dl.doubtnut.com/l/_wfxNRaTpjoXJ
https://dl.doubtnut.com/l/_04IoPHeYQJIb

43. find the ratio in which the point(-3, k)
divides the join of A(-5,-4) and B(-2,3) .Also find

the value of k.

° Watch Video Solution

44. in what ratio the x-axis divides the line
segment joining pair of points

A(2,-4),B(-3,6).

° Watch Video Solution



https://dl.doubtnut.com/l/_04IoPHeYQJIb
https://dl.doubtnut.com/l/_Gvual2WrxiEf
https://dl.doubtnut.com/l/_rqgxohvckIUO

45. in what ratio the x-axis divides the line
segment joining pair of points

A(4,6),B(5,-3).

° Watch Video Solution

46. in what ratio the x-axis divides the line
segment joining pair of points

A(3,-3),(5,9).

° Watch Video Solution



https://dl.doubtnut.com/l/_rqgxohvckIUO
https://dl.doubtnut.com/l/_hOoVmy2b1N4i

47. in what ratio the y axis divides the line
segment joining pair of points.

A(-3,5),B(4,6)

o Watch Video Solution

48. in what ratio the y axis divides the line
segment joining pair of points.

A(2,7),B(-3,4)

o Watch Video Solution



https://dl.doubtnut.com/l/_388xOP8sUOhz
https://dl.doubtnut.com/l/_n1vLs7rHKHeK
https://dl.doubtnut.com/l/_8n0uxKOrIbV0

49. in what ratio the y axis divides the line
segment joining pair of points

A(2,2),B(4,5)

o Watch Video Solution

50. the extremities of a line segment AB are
given below . find the co-ordinates of the
points of trisections

A(1,2),B(-3,4).

° Watch Video Solution



https://dl.doubtnut.com/l/_8n0uxKOrIbV0
https://dl.doubtnut.com/l/_NYQzIyGLR6Uz

51. the extremities of a line segment AB are
given below . find the co-ordinates of the
points of trisections

A(2,3),B(6,5).

° Watch Video Solution

52. let A(1,3) and B(2,7) be two points.

in what ratio does the line 3x + y =9 divides the

line segment AB

° Watch Video Solution



https://dl.doubtnut.com/l/_3A8pRZ4UfcKx
https://dl.doubtnut.com/l/_ay3r4NeRhiRd

53. let A(1,3) and B(2,7) be two points.
point P divides the line segment joining the
point A(-1,3) and B(9,8) such that 'AP/BP=k/1'. if

P lies on the line x-y + 2=0 find the value of k.

o Watch Video Solution

54. point P divides the line segment joining
the point A(2,1) and B(5-8) such that
'AP/AB=1/3" .if P lies on the line 2 x-y + k =0find

the value of k.


https://dl.doubtnut.com/l/_ay3r4NeRhiRd
https://dl.doubtnut.com/l/_TLGnrzJhSrfa
https://dl.doubtnut.com/l/_FVmwfOP2fNJm

° Watch Video Solution

55. If three vertices of a parallellogram ABCD
are A(2,3),B(-1,4), C(5,-2) find the co-ordinates of

the fourth vertex D

° Watch Video Solution

56. if two adjacent vertices of the

parallelogram (3,2) and (-1,0) and the


https://dl.doubtnut.com/l/_FVmwfOP2fNJm
https://dl.doubtnut.com/l/_3onQGUDPpBfK
https://dl.doubtnut.com/l/_C1KTmILP9e6l

diagonals meet at(2,-5) .find the other vertices

of the parallelogram.

° Watch Video Solution

57. if a vertex of a triangle be(1,]) and the
middle point of the sides through this point

are(-2,3) and (5,2) , find the other vertices

° Watch Video Solution



https://dl.doubtnut.com/l/_C1KTmILP9e6l
https://dl.doubtnut.com/l/_VBGvtynBKQ4K

58. the three consecutive vertices of a
rhombus are (2,-1),(3,4) and (-2,3)

respectively.Find the fourth vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_dq7kggEaROSt

